Concrete Mixing EAS 199B
In-class Problem

A batch of masonry cement is made by mixing three 5-gallon buckets of wet sand with
one 70 lbs bag of masonry mix and 3 gallons of water. The sand used in the mix is
partially wet, containing an unknown amount of water.

a. If'the final batch of “mud” contains 11.3% water by weight when the desired
consistency is reached, how many gallons of water did the sand used in the mixture
contain? Assume the wet sand and dry sand occupy the same volume. Answer:

1.48 gal.

b. What is the weight of the final batch of mud?

Be sure to follow the systematic presented in class when solving this problem. Remember
that learning the correct solution process is just as important as getting the correct
answer.

Potentially useful information for this problem:
Specific weight of water = 8.33 Ibg/gal.
Specific weight of dry sand = 111 Ibg/ft’.

1 gal =0.1337 ft’
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